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PART A: Vocabulary
Directions: Choose the word or the phrase (1), (2), (3), or (4) that best completes the blank. Then

mark the correct choice on your answer sheet.

1-  The rising death toll is ---------- largely to the growing number of elderly people, who are
especially vulnerable to the flu.
1) attributed 2) converted 3) debilitated 4) transferred

2-  The couple were finally ---------- by the landlord after not paying their rent for six
months.
1) extended 2) elicited 3) evicted 4) evacuated

3- We have a ---—------- clientele in our language program, with students from Asia, Europe
and South America.
1) complex 2) diverse 3) symmetrical 4) haphazard

4-  But the possibility of these adversaries acting like friends, despite their long-standing
---------- and mutual dislike, is on the horizon.

1) rivalry 2) advocacy 3) inclination 4) justification

5-  Debating that aliens exist cannot be deemed an ---------- truth as we have yet to see proof
of their existence.
1) unintelligible 2) Insensitive 3) unforeseeable 4) incontrovertible

6-  The girls wanted to set the table, but they were more of a ---------- than a help.
1) compliment 2) hindrance 3) thrill 4) pretension

7-  The government is to consult the attorney general on whether the enacting of such a law
would be in ---------- of the constitution.
1) provenance 2) rationalization 3) breach 4) caprice

8- Someone once joked that man blames most accidents on ---------- , but feels a more
personal responsibility when he makes a hole-in-one on the golf course.
1) legality 2) verdict 3) charge 4) fate

9-  The trial collapsed when it became clear that the main witness for the prosecution was
Nnot =======--- .
1) credible 2) singular 3) subjective 4) conjectural

10- The rising number of minority inmates in prison only goes to ---------- the stereotype that

members of minority groups are bad people.
1) overlook 2) downplay 3) belie 4) perpetuate
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PART B: Cloze Passage
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each

space. Then mark the correct choice on your answer sheet.

Fuel cell electric vehicles emit only water vapor and warm air, (11) --—----—--- no
tailpipe emissions. Similar to electricity, hydrogen is an energy carrier that can be
produced from various feedstocks. These feedstocks and production methods should
be considered when (12) ---------- A

Argonne National Laboratory’s (ANL) report, Fuel Choices for Fuel Cell
Vehicles: Well-to-Wheels Energy and Emission Impacts, analyzed greenhouse gas

(GHG) (13) ---------- 10 of the most common hydrogen production and distribution
pathways. ANL found that gaseous hydrogen produces (14) ---------- GHGs than liquid
hydrogen in most cases. ANL also investigated hydrogen’s effects on petroleum use
and found that using hydrogen as a fuel (15) ---------- petroleum use by nearly %100
regardless of fuel production pathway.

11- 1) produce 2) that produces 3) to produce 4) producing

12- 1) to evaluate hydrogen emissions 2) evaluating hydrogen emissions
3) for hydrogen emissions to evaluate 4) hydrogen emissions evaluated

13- 1) emissions for 2) it 1s emitted as 3) is emitted for 4) to be emitted

14- 1) less of 2) as little 3) fewer 4) fewer of

15- 1) reduction 2) reduced 3) that reduces 4) to reduce

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best

choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE I:

Bureaucracies are often criticized for their inflexibility, budget-maximizing wastefulness,
and excessive rules and procedures. Rapid advances in technology, including the
expansion of digital government, the use of artificial intelligence, and the ability to collect
and analyze big data, promise to make public sector organizations leaner, more efficient,
and more responsive to citizens’ needs. While these technological changes have prompted
some observers to forecast the end of bureaucracy, data from many countries show that
bureaucratic public organizations are not disappearing.

In this article, we argue that this paradox can be explained by revisiting some of the
foundational work of sociologist Max Weber, who envisioned public administration
itself as a bureaucratic machine. Advanced computing technologies, like artificial
intelligence, are reinforcing bureaucratic tendencies in the public sector, not eliminating
them. While advances in technology may transform the way public sector organizations
operate, they can also serve to strengthen bureaucracy’s core purpose.

16- What is the passage mainly about?
1) Digital technologies, artificial intelligence, and bureaucratic transformation
2) Rapid advances in technology and its potential threats
3) The foundational work of sociologist Max Weber
4) Inefficiencies in the use of artificial intelligence
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17-

19-

20-

21-

22-

23-

The passage refers to all of the following as disadvantages of bureaucracies EXCEPT

1) inflexibility 2) massive wage gaps

3) budget-maximizing wastefulness 4) excessive rules and procedures

Which of the following statements is true?

1) Technological advances certainly cannot transform the way public sector organizations
operate.

2) The prediction that new technologies will put an end to bureaucracies has come true.

3) Advances in technology are likely to strengthen bureaucracy’s core purpose.

4) Public administration is no more regarded as a bureaucratic machine.

The word ““envisioned” in paragraph 2 is similar in meaning to ---------- .

1) emphasized 2) attained 3) generated 4) imagined
The word “them” in paragraph 2 refers to ---------- !

1) advanced computing technologies 2) bureaucratic public organizations
3) public sector organizations 4) bureaucratic tendencies
PASSAGE 2:

No writer is more renowned for his ability to foresee the future than H.G. Wells. His
writing can be seen to have predicted the airplane, the tank, space travel, satellite
television and the worldwide web. His fantastic fiction imagined time travel, alien
invasion, and flights to the moon.

This is what he is generally remembered for today, 150 years after his birth. Yet for
all these successes, the futuristic prophecy on which Wells’s heart was most set — the
establishment of a world state — remains unfulfilled. He visualized a Utopian government
which would ensure that every individual would be as well educated as possible
(especially in science), have work which would satisfy them, and the freedom to enjoy
their private life.

His interests in society and technology were closely entwined. Wells’s political
vision was closely associated with the fantastic transport technologies that he is
famous for: from the time machine to the Martian tripods to the moving walkways and
aircraft in When the Sleeper Wakes. In Anticipations (1900), Wells prophesied the
“abolition of distance” by real-life technologies such as the railway. He stressed that
since the inhabitants of different nations could now travel towards each other more
quickly and easily, it was all the more important for them to do so peacefully rather
than belligerently.

The main goal of the passage is to introduce readers to ---------- ,

1) H.G. Wells’s political ideas 2) H.G. Wells’s brief biography

3) the importance of science fiction 4) H.G. Wells’s predicting the future

The passage mentions all of the following as H.G. Wells’s predictions EXCEPT ---------- 4
1) satellite television 2) the atomic bomb

3) alien invasion 4) the worldwide web

According to the passage, which of the following was H.G. Wells most interested in?

1) The establishment of a world state 2) Transport technologies

3) The Martian tripods 4) The aircraft
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24-

26-

27-

28-

The word “prophesied” in paragraph 3 is similar in meaning to ---------- .

1) eliminated 2) restricted 3) predicted 4) regulated
The word “stressed” in paragraph 3 is similar in meaning to ---------- ’

1) symbolized 2) was worried 3) was involved 4) emphasized
PASSAGE 3:

Why the need to manage knowledge? Nowadays we are in the era of knowledge. The
reason for increased importance of knowledge lies in the fact that effective
management of knowledge brings many positive outcomes to improve learning
efficiency. And we implement knowledge management (KM) initiatives with the
expectation that it will result in increased competitive advantage. KM is used to
capture, document, and reuse knowledge, as well as to create, transfer and exchange it
(Dayan and Evans, 2006). There is no limit to where KM can be applied, ranging from
individual learning, small enterprises to large multinational corporations. KM has
become increasingly more important for individuals to understand what information is
essential, how to administer this essential information, and how to transform essential
information into permanent knowledge (Tseng et al., 2012). KM plays a fundamental
role in the success of an organization’s activities and strategies (Castrogiovanni et al.,
2016). Therefore, managing and using knowledge effectively is vital for both
individuals and organizations to take full advantage of the value of knowledge.

During the past decade, numerous publications dealing with KM reviews from
different perspectives have been published. Ragab and Arisha (2013) categorized
different branches of KM research. Serenko (2013) analyzed the stock of KM
publications and identified citation classics in KM field. Makhsousi et al. (2013)
reviewed recent advances on the implementation of KM in different areas and
discussed why some of KM implementations fail and how they could turn into a
successful one. Arisha and Ragab (2013) provided a literature review and categorized
the analysis of the rapidly growing number of KM publications, and they offered a
comprehensive reference for newcomers embarking on research in the field.

What is the first paragraph mainly about?

1) Applications and advantages of knowledge management

2) Recent publications on knowledge management

3) How to live in the era of knowledge

4) Improving learning efficiency

The passage mentions that KM is used to do all of the following EXCEPT ---------- .
1) capturing knowledge 2) transferring knowledge

3) retrieving knowledge 4) exchanging knowledge

According to the passage, it is important for individuals to understand all of the
following EXCEPT ---------- ;

1) how to administer essential information

2) why they need essential information

3) how to transform essential information into permanent knowledge

4) what information is essential
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29-  Which of the following reviewed recent advances on the implementation of KM in
different areas?

1) Arisha and Ragab (2013) 2) Makhsousi et al. (2013)
3) Serenko (2013) 4) Ragab and Arisha (2013)
30- The word “comprehensive” in paragraph 2 is similar in meaning to ---------- !
1) valid 2) recent 3) complete 4) classic
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